HB: n =88

* bis3%a:30 %
e bis49a:27 %
e his59a:26% Y
* bis69a:17 %

=

SH:n=1212
e bis39a:33%
e bis49a:27 %
e bis59a:25%
bis 69 a: 15 %

MV:n =406
e bhis39a:39%
* bis49a:22%
e bhis59a:21%
bis 69 a: 17 %

HH:n =295

- bis39a:22%
NI:n = 3191 Q\‘Q .« bis49a:23%
- bis39a:30% . bis59a:28%

bis 49 a:26 % * bis69a:26%

e bis59a:25%
e bis69a:19%

BE:n =784
e bis39a:38%
bis 49 a: 22 %

e bis 59 a: 24 %
. bis693

BB:n =855
e bis39a:34%
e bis49a:25%
e bhis59a:25%
e bis69a:17 %

ST:n =552
e bis39a:26 %
e bis49a:34%
e bis59a:29 %
e his69a:11%

WL: n=1997
e bis39a:34%
e bis49a:25%
e bis59a:25%
e bhis69a:16 %

NR: n = 2296
e bis39a:37 %
e bis49a:25%
e bis59a:24 %
e bis69a:15%

SN: n =886
e bis39a:38%
o bis49a:26 %
e bis59a:22%
e bis69a:13%

TH: n = 391
e bhis39a:40 %
e bis49a:22%
e bis59a:21%
e bis69a:17 %

HE: n =1632
e bis39a:28 %
e bis49a:25%
e bis59a:27 %
e bis69a:20 %

RP:n =991

e bis39a:29 %
e bis49a:23%
e bis59a:28%
e bhis69a:20%

BY:n=4128
e bis39a:36%
e bis49a:24 %
e bis59a:23%
e bis69a:17 %

SL:n =237
e bis39a:37%
« bhis49a:23%
e bis59a:22%
* bis69a:19%

BW: n = 2244

e bis39a:33%
e bis49a:23%
e bis59a:25%
bis 69 a: 18 %




